IF IN DOUBT, PLEASE >mxl “ DO NOT SCALE 7>F DIMENSIONS ARE IN mm

J 7 , 7 H 7 G F 7 E D 7 C 7 B 7 A
ERP CODE: | |
8
DRIVE SIDE DRIVEN SIDE
M5 SET SCREW ON KEYWAY.
7
o 3¢
Sd £
+ =5
- 0 920+ 9071 38
6+0.015 ] 0 o
-— uw/\ N uw/\ mm
6 B0 55 o] o5
Na 27.5 e
+0.021 ~ | -
o | #2079 A 6+0.015 g8
=g
- + o€
N 2NOS.—M10x1.5P TAPPED 2NQOS.—M10x1.5P TAPPED |s°
o HOLES ON 107 PCD EQUI HOLES ON 107 PCD EQUI. |3
5 | f
M5 SET SCREW ON KEYWAY. wm
I APPLICATION DETAILS £g
APPLICATION — mw
4| RATED POWER _ 9 CLEVELOCK NUT GRAO 12 Mm
RATED SPEED - 8 COUPLING BOLT AH GR. 12.9 12 Mm
| [ RATED TORQUE _ 7 ATTACHMENT BOLT(I) AH GR. 12.9 12 wm
=0
ASF _ NOTE: - 6 S SLEEVE ASTM A 1040 6 mm
— ELEMENT BLADE °g
Wu OOCUCZO mﬁumoij>jOZW HH@EH@ZHZ@ HOW@C@ c— 5 ASSEMBLY AISI SS 301 2 mw
COUPLING RATING 12.6 KW @ 100 RPM 1) SR.NO.8 COUPLING BOLT = 59Nm 4 SPACER ASTM AIBGEASTM ASBN| 4185
RATED TORQUE 1205 Nm 2) SR.NO.7 ATTACHMENT BOLT = 59Nm 5 ADAPTER 1/ ASTM A 1040 2 |25
MAX. BORE 65 mm 2 DRIVEN HUB (1) ASTM A 1040 1 mm
WEIGHT (A . oo
( @UMOXV 12.264 kg 1 DRIVE HUB (1) ASTM A 1040 1 gL
2| INERTIA (WK ~ 0o
( ) 0.023 koM 2 SR.NO. DESCRIPTION MATERIAL QTy. mm
anmmeMhUMMM@JMMWENMNM ﬂﬂ%@\%gm 5 TITLE: MATERIAL: AUTHORITY [INITIALS|  SIGN| DATE mm
. S
] AS PER SO 2194011 mm\zx\xwwﬂmmww\, REFER TABLE | DRAWN - - |88
4 MAX. MISALIGNMENT CheckeD | = g8
AXIAL DEFLECTION +1 mm CUSTOMER NAME: APPROVED - - mm
- SCALE: NTS REF. NO. Se
ANGULAR DEFLECTION 0.75 - - \\N\\\% AT TRANSPOWER VT L1p PG OF Prov 7@Im%29 mm
RADIAL MISALIGNMENT | 0.013 mm REV| “No. DESCRIPTION REV. BY| "G50 | DATE | A8 PUNE-411014 L/REM=XXXX /0[5 *
£/ 0/ 3 EN—F—112—Revl [£5




